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o> 243 >> a=2+3
4ns = a4 =
5 5
> a4
>> a=a+bh;
=
a =
5
s> O > Cc=a+7
Undefined
.|: =
function or
variable 'c'. 12
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> ®x=[1234] R
X = s
1234 %;
>> y=[1 2 3 4] .
y =
1 2 3 4
>» z=[1,2,3,4] g&
z = .,i
1 2 3 4 {
>> p=[1;2:3;4] fi
P = )
. S
2
3 <
4 =
>> gq=[1,2:3,4]
q =
1 2
3 4

>> w=[1,2,3;4]

Error using vertcat

Dimensions of matrices being concatenated are not
consistent.
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=>» a=ones(4)
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a =
1 1 1 1
1 1 1 1
1 1 1 1
1 1 1 1

>»> b=ones(3,5)
b =
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>> a=linspace(0,2,5)
a:

(S

0 0.5000 1.0000 1.5000 2.0000
>> b=linspace(0,2,7)
b:

‘ |

0 0.3333 0.6667 1.0000 1.3333 1.6667 2.0000

P

linspace
Generate linearly spaced vectors

*o0
J“

(7Y

Eyntax

¥ = linspace(a,b)

¥ = linspace(a,b,n)
Descﬂpﬁnn

The linspace function generates linearly spaced vectors. It is similarto the colon operator 7, but gives direct control over the number of points.
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v = linspaceiz,b) generates a row vectar v of 100 points linearly spaced between and including 2 and k.
v = linspace(z,b,n) generates a row vector v of o points linearly spaced between and including 2 andk. Forn = 1, linspace returns k.
Examples
Create avector of 100 linearly spaced numbers from 1 to 500
L = linspace(l,500);
Create avector of 12 linearly spaced numbers from 1 to 36:
L = linspace(l,3&8,12);

See Also

colon operator | logspace
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>» A=1:1:5
&
L = oo
1 2 3 4 5 i
_1. . 4
>> B=1:1.1:5 2
0,
B = g
1.0000  2.1000  3.2000  4.3000 -
_o1._3: <
>> C=21:-3:2 S
o =
21 18 15 12 9 g 3
>> D=2:2%pil
D =
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o [ ] %
>> A=[13 17 14;11 & 73;23 53 91] CUJJJ CU ‘-SMJMJ LS‘JJ %;
A = Sl (S5 G sile o 2
SR b abs of pwsl 6 ]
11 6 73 .
23 53 91 {icaant-at é
=> A(2,3) P
dans = ’zi
73 4
>> A(3,2) A
aflls = 2
S :
>> B=0:p1/2:2%p1 <
5 — p=
0 1.5708 3.1416 4.7124 6.2832
>> B(3)
dans =
3.1416
>> B(1,3)
dans =

3.1416
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13 17 14 &
11 6 73 :
23 53 91 i
=> B 'g‘
B = 0
0  1.5708  3.1416  4.7124  6.2832 <
>> B(3)=0 |<_(
B — 2
0  1.5708 0  4.7124  6.2832
>> A(2,2)=4
E_"L =

13 17 14
11 4 73
23 53 91
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>> A .
A - 3
13 17 14
11 4 73 %ﬁ
23 53 91 5&
>> B '15;
B = o
0 1.5708 0 4,7124 £.2832 <
>> B(4)=[] =
B = =
0 1.5708 0 6.2832
=>> B(4)=[]
B =
0 1.5708 0

>> A(2,3)=[]
Subscripted assignment dimension mismatch.
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-1 2 3 4 5- L B ond. 3 | -
: en =7 ¢
6 7 8 9 10 2: A(2: 52)? 3)
11 12 13 14 15 3 A(: :)=

16 17 18 19 20 B A(Le2e5 1:5)— $
21 22 23 24 25 {
4
2
af]
>>» A=[1l:5;6:10;11:15;16:20;21:25] i
|_
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1 z 3 4 H

6 ¥ 8 9 10

11 12 13 14 15
16 17 18 19 20
21 22 23 24 25




>> A(1
ans =

>> A(1
ans =
1

r4)

2 4)

6

11

>> A([1 7 16 24])

ans =
1

>> A(1
ans =
2

7

12

>> A1
ans =
1

.
1 3,2:4)

3

g8

13
:3:15)

16

>> A(end, end)

ans =
25

16

20

22

13

>> A(2,:)
ans =
6 7

>> A(end, 1)
ans =

21 22
>> A(l:2:5,1
ans =

1 3
11 13
21 23
> A(:, 1)
ans =
1 2
& 7
11 12
16 17
21 22
>> A(5:1)
ans =

Empty matrix: 1-by-0
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Sl m oon w b ones(n,m)
S alLobn on w b ones(n)
swo g 4L M 5N G b zeros(n,m)
swo g LLsL N LN G b zeros(n)
Nl Slod jw sl eye(n)
Il s wlsb m on e sk rand(n,m)
b s sl n ysn g b rand(n)

S 1> )0 S s (B3lai Oygo 4N ) slael randperm(n)
Mo N G b o Usb sa G meo slael | randi([a,b],n,m)
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azs

55
asl
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ad

S
ab

I~
)
al=cones (2) >> ae=rand(Z, 3) :
= ae = %;
1 1 0.1190 0.9597 0.5853 —
1 1 0.4984 0.3404 0.2238 EL
aZ=ones (2, 3) >> aT=randperm(4) 3‘
= al = e
1 1 2 3 4 1 .{
1 1 »» af=randi([-5,5]1,3,2) ‘53
ad=zeros(3) ag = 2
= 4 -4 ]
<
0 0 0 1 -3 o
0 0 0 >> aS=eye (3) =
ad=zeros(1,4) _
ag9 =
- 1
0 0 0 0
ab=rand(2) 0

: JUo

0.4218 0.7922
0.9157 0.9555
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=> a=[1 2;3 4]

2
4

=> b=[5 6;7 8]

4 =
1
3
h =
5
.
>> a+b
ans =
6
10
>> a-b
ans =
-4
-4
>> a*b
ans =
19
43

12

22
50

>> a.*b
ans =
5 12
21 32
>> a/b
ans =
3.0000
2.0000
>> a./b
ans =
0.2000
0.4286
>> a3
ans =
37 54
g1 118
>» a.”3
ans =
1 8
27 64

-2.0000
-1.0000

0.3333
0.5000

: JUb

>> a"b
Error using _*%

Inputs must be a scalar and a

square matrix.

To compute elementwise POWER, use

POWER (.”) instead.
>» a.”b
ans =
1 64
2187 65536
>> a.+tb
a.+tb

|
Error: Unexpected MATLAB
operator.

>> a.—b
a.-b
|
Error: Unexpected MATLAB
operator.
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: JUb

>> a=eye (4)
a:

1 0
0 1
0 0
0 0

>> b=single(a)
h =

o o

0
1
0
0 0
>> c="matlab'
c =
matlab
>> d=1>3

ad =

double

(I e s [ |
B e N s [

single

Lo I e R -
R o S i Y

char

logical

=
;

>»> e.family="ali"; "
>> e.phone="0587654321"; %;
>> e.age=30 -ay
o structure | BK
family: 'ali' é:
phone: '0987654321" P

age: 30 %i

>> f={a,c;d, e} cell ‘15;
£ - m
[4x4 double] 'matlab? i

I 0] [1x1 struct] [

=

L3



oo &b 3
; UD al) =
)
aS A (53¢ l.: Ls’l"'Q" Lgl.a:):lg)lf j| LS‘ dcgosx0 L5| AUy Lgtcb Ls?9)5 3{;
P pae S Ly 5N 0 30,8 (0 8 () pdidsS b Sy g 0 _
s g o3¢ char g9 )l MATLAB s <ty o .58 o Jleil |y jlsp o ﬂ)
N
>> text='My hero is a martyr’ %i
text = %i
My hero 1s a martyr m
>>» text2="aw!l 1ugs & o gleggs’ 3
textZ = I<_E
=
>>» A=text (1:7)
A =
My hero
>> B=text(l4:end)
B =

martyr
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>» class (2, 1)
ans =
ahmad

=

;3)

)

QLQ)L@chb>d§&y>df.xﬁuub(5b>dﬂﬂ'q5|QLQ)L§Q>4£J 'ﬁ
°*thL¥H£Uﬁaslﬁb> -

»>> class=char('ali', "ahmad', "hassan') 3:
class = z
ali b
K]

ahmad 2
)

hassan <
—

<

=
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>> student.name='ali zlavi';
>> student.1d=987€54321;
>> student.marks=[12Z 15 18 Z0];
>> student
student =
name: 'all alavi'
id: 987654321
~marks: [12 15 18 20]
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student (2) .name="ahmad ahmadi’';

student (2) .1d=123456789;

student (2) .marks=[13 16 19 20]:;

>> student
student =
1x2 struct array with fields:
rname
id
marks
>> student.id
ans =
987654321
ans =
123456789

S Joc

>> student.name

dls =

MATLAB 55 Lsyaiuo : P fuctd |t dolips il

ali alavi
ans =
ahmad ahmadi
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>» ¢c{l,1}=rand(3):
>> c{1l,2}=char ('ali','alavi'):;
>> c{2,1}=pi;
>> c{2,2}=student;
> O
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[3x3 double] [2x%x5 char ]
[ 3.1416] [1x2 struct]
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Sun ai) 3
>> d={rand(3),char('ahmad', "ahmadi') ;eps, student} %;
d = 3;
[3x3 double] [2xX& char ]
[2.2204e-1¢6] [1x2 struct] é
>> c{1,1] i
ans = -‘,3;
7\
0.8147 0.9134 0.2785 m
0.9058 0.6324 0.5469 é
0.1270 0.0975 0.5575 <§E
> d{l, 2}
dIns =
ahmad

ahmadi
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(2) Sl sl ol ) (sin e o) gt ol b Al pd Sjpo A Lo ST ¥

1 2
6 7
11 12
16 17

21 22

3 4 57
8 9 10
13 14 15
18 19 20
23 24 25-

2: A(1:BA(2))="

4: A(A(A(R(3))))="
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